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used throughout the paper.
fewuit : 3@ YE-UF @ S AN A o<t e e wmwn # <ifviw; few a sl @
e T @ R Wi .

Attempt A/l quéstions.
Tt 9 v HIfNT
1. Explain any three of the following giving suitable examples : ' 3x5=15
(¢) The Going Concern Concept
(h) The Business Entity Concept
(¢)y The Realisation concept
(d) Accounting Period concept

() Accrual basis of accounting.
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| Or
(3Fera)

What is meant by accounting standards ? What is the legal status of accounting standard in

India ?

QTR HAE § Y R A § 7 9IRd H @R AR & fafue frufa @
€ ? | |
From the following particulars, you are required to prepare Trading, Profit and Loss Account.

and for the year ended 31st Dec. 2013 and a Balance sheet as on that date :

Particulars _ | Amount

(inRs.)

Sales , 65,000
Sales Return 500 | b

Stock at the beginning | 8,000

Purchases | ‘ 29,000




Purchases Return |
Direct Wages

Direct Expenses
Carriage Inwards
Capital at tﬁe beginning
Drawingsl

Sundry Debtors
Sundry Creditors
Discount allowed
Discount received
Salaries

Interest paid
Furniture

Buildings

Plant ahd Machinery
Cash in hand

 Bills Payable

¢ 3)
300
5,000
5,000
4,000

30,000

5,000

110,000
12,000
100
500
3,000
400
3,000
20,000

20,000

1,000

6,200
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Reserve for bad and doubtful debts ' 500
Bad debts ) : 300

Closing stock at the end 8,000

Additional Information -

(1)

3)

(4)

o)

Outstanding Salaries Rs. 500.

Interést on Capital at 10% p.a.

Depreciation on Plant and Machinery ‘at 10% p.a. and buildings at 5% p.a.
Prepaid of Interest Rs. 100.

Provision for bad and doubtful debts at 10% on debtors. ' 15
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fersht 65,000
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5,000
4,000
30,000
5,000
10,000
12,000
100
500
3,000
400
3,000
20,000
20,000
1,000
6,200
500
300

8,000
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(3ream)

Discuss the meaning and role of journal, ledger and trial balance in preparation of Financial

Statements. ) 15
fordty el B SR A § s, SR R qa-ve w1 A iR yf @ fedE
Fifsw | ' | |

On Ist April 2004, XYZ Ltd. purchased a plant for Rs. 10,00,000. On Ist October, 2004, |
an additional plant was purchased costing Rs. 5,00,000. On 1st October, 2005, the plént
purchased on 1st April, 2004 was sold for Rs. 4,00,000. Oh Ist October, 2006, a new plant

was purchased for Rs. 12,00,000 and the plant purchased on 1st October, 2004 was sold

for Rs. 4,20,000 on the same date.

Depreciation is to be provided at 10% per annum on the written down value on 31st March -

every year. Prepare the plant account for three years ended 31st March, 2007. 15




(7)) 6658

1 3 2004 1 XYZ fafaee ¥ 10,00,000 & H T&H w9 @S 1 SRS 2004 i

T IR T Tl T s B 5,00,000 % ot | SRS 2005 1 I 2004
H TR T WIS 4,00,000 ﬁéﬁrfmwm SFRE 2006 h! TH T TIF
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Or
(3teram)
(¢) Explain FIFO method of inventory valuation. 5

(h)  From the following information, calculate the value of stock as on 31st March 2013 as

per First In First Out basis : 10
1-1-2013 - | Opening stock | nil

1-1-2013 ’ Purchases 100 unitg @ Rs. 30 .per' unit
15-1-2013 = . Issﬁed for consumption 50 1;nits |

1-2-2013 Purchases . 200 gnits @ Rs. 40 each

P.T.O.




15-2-2013

20-2-2013

1-3-2013

15-3-2013

( 8)

[ssued for consumption

Issued for consumption

Purchases

Issued for consumption

6658

100 units
100 units
150 units @ Rs. 50 pef unit

100 units

(%) A GEI HeAkA & FIFO fafy = =aren it

(@) frafafea gaasi § FIFO ¥R W 31 A, 2013 & @ie & Jod o1 qREwad

HIfST .

1-1-2013

1-1-2013

15-1-2013

1-2-2013

15-2-2013

20-2-2013

1-3-2013

15-3-2013

IR s

9 & fag S
3 & fom Wi
g

(g & faw s

NS
100 9% @ 30 & W qfe
50 gfe

200 I @ 40 & TFAh

100 gfE -

100 I

150 gfe @ 50 & wfa e
100 e
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What do you mean by cash-flow statement ? Explain advantages and limitations of cash-flow

statement. N o 15

“Ihs Yarg wU [ U G TR ¥ 2 Jee WO HUA @ onel iR drmei w3

e Hifsu |

(<)

A company carried forward balance of Rs. 50,000 in the Profit and Loss appropriation account

from the year ended 31st March, 2012. During 2012-2013, it made a further profit of

Rs

(1)

)

N

. S,Q0,000_. It was decided to carry out the following decisions :
.Provide for Provision for taxation Rs. 2,00,000.
Dividend Equalisation account Rs. 50,000.
| D.ividend‘ on 12% preference shares of Rs. 2,50,000.
Dividend of 15% on 40,000 equity shares of Rs. 10 each fully paid.

General Reserve Rs. 55,000.

P.T.O.
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(6) Development Rebate Reserve Rs. 40,000.

(7) Provide for corporate dividend tax at 16.2225%.

Prepare Profit and Loss Appropriation (Surplus) account. _ 15

TF FO 50,000 & & I H, 31 wzf 2012#%@@3?@61%1%{%%@4‘1@1?

TG H I F A §1 2012-2013 & TA 3EA 5,00,000 T R Q A9 w1 3@?(
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(1) &EE & faU 2,00,000° . Ht G|

(2) W FHE A@ 50,000 T

(3) 12% IfYHE YU W TR 2,50,000 T |

(4) 10 % =T qUIGT 40,000, SEEE TR W 15% W
(5) "M &6 55,000 % |

(6) ﬁ%‘m’ﬁ fae o 40,000 %. |

(7) B A F 16.2225% B foIU |
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- Explain the significance of (any two) :

(1) | Stock Turnover Ratio
2) ' Current ratio

(3) Operating ratio.
Célculate :

(i)  Gross Profit Ratio

() Working Capital Turnover Ratio

Particulars
Sales (Gross)
Cost of sales
Net profit
Current Assets
Current Liabilities-

Fixed Assets

6658

10

Amount (Rs.)

28,50,000
18,50,000
3,70,000
15,60,000
7,00,000

15,00,000

P.T.O.
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(%) frefafeaa 8 @ vl @ & T8 F =& FINT
(1) Vi quamEd
(@) =T ST
(3) STETE ST
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() TEA A9 ST

(i) wEEeA qSt yaed  STuT

" faawor W (% H)
fosrt (Ter) 28,50,000
fasnt =t @ ~18,50,000
frae @y 3,70,000
=Te] IftEufaal 15,60,000
], T 7,00,000

Tt gfafaaf 15,00,000
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From the following Balance Sheets of ABC Ltd., prepare Cash Flow Statement :

Liabilities

2012 2013 Assets 2012 2013
-quity share capital 2.00.000 | 2.00.000 | Goodwill 40,00Q 30,000
Reserve and Sﬁrpius 1,10,000 1.75.,000 Machinery 1,50,000 . 2,00;000
Provision for taxation 35.000 45,000 | Investments
(short-term) 12,000 15,000
Accounts Payable 1.39,000 1,28,600 ‘Stock 1,80,000 2,15,000
Outstanding salaries 6,000 Nil | Accounts
receivables 60,000 50,000
Prepaid expenses 10,000 5 ,00.0
Bank 8,000 10,000
Preliminary expenses | 20,000 16,000
Underwriting
Commission 10,000 7,000
Total 4;90,000 5,48,000 4,90,000 5,48,000
P.T.O.
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Additional Information -

(i) Machinery whose original cost was Rs. 50,000 was sold for Rs. 1‘0,000 during the year.

" Accumulated depreciation on this machinery was Rs. 26,000
(ify Depreciation on Machinery charged during the year Rs. 20,000.

(itiy Dividend paid during the year @ 10% on Equity Share Capital. 15

ABC fafee & frfafed g @ Ihg Yoe HeF TR Hifey :

ERrIY 2012 | 2013 | uRwufat 2012 2013
HECCII DIl 2,00,000 |2,00,000 | g . 40,000 30,000
fod o s 1,10,000 |1,75,000 | wefdt 1 1,50,000 | 2,00,000
muma% forq sgereen 35,000 | 45,000 | P (sreamfe) | 12,000 15,000
<F A - | 1.39.000 1.28,000 | T 1,80,000 '2,1”5,000
EEIRIMCRE 6,000 | IR | T A= _‘ 60,000 50,000
T ™ 10,000 5,000
EED 8,000 ;10,000
i @ 20,000 | 16,000
i wE wERE | 10,000 7,000
EIES 4,90,000 |5,48,000 | 4,90,000 | 5,48,000
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() W, fEe TE AR 50,000 7. i 3@ A 10,000 T 49 @ 1 v WA
W Hied qeagE 26,000 % A1) |
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